http://communications.science.ankara.edu.tr

Commun.Fac.Sci.Univ.Ank.Ser. A1 Math. Stat. Volume 71, Number 1, Pages 273–284 (2022) DOI:10.31801/cfsuasmas.939096 ISSN 1303-5991 E-ISSN 2618-6470



Research Article; Received: May 18, 2021; Accepted: October 22, 2021

# SOME GROUP ACTIONS AND FIBONACCI NUMBERS

Zeynep ŞANLI and Tuncay KÖROĞLU

Karadeniz Technical University, Faculty of Science, Department of Mathematics, Trabzon, TURKEY

ABSTRACT. The Fibonacci sequence has many interesting properties and studied by many mathematicians. The terms of this sequence appear in nature and is connected with combinatorics and other branches of mathematics. In this paper, we investigate the orbit of a special subgroup of the modular group. Taking

$$T_c := \begin{pmatrix} c^2 + c + 1 & -c \\ c^2 & 1-c \end{pmatrix} \in \Gamma_0(c^2), c \in \mathbb{Z}, c \neq 0,$$

we determined the orbit

 $\{T_c^r(\infty): r \in \mathbb{N}\}.$ 

Each rational number of this set is the form  $P_r(c)/Q_r(c)$ , where  $P_r(c)$  and  $Q_r(c)$  are the polynomials in  $\mathbb{Z}[c]$ . It is shown that  $P_r(1)$ , and  $Q_r(1)$  the sum of the coefficients of the polynomials  $P_r(c)$  and  $Q_r(c)$  respectively, are the Fibonacci numbers, where

$$P_{r}(c) = \sum_{s=0}^{r} \binom{2r-s}{s} c^{2r-2s} + \sum_{s=1}^{r} \binom{2r-s}{s-1} c^{2r-2s+1}$$
$$Q_{r}(c) = \sum_{s=1}^{r} \binom{2r-s}{s-1} c^{2r-2s+2}.$$

and

## 1. INTRODUCTION

The modular group theory plays an important role in many areas of mathematics, such as number theory, graph theory, automorphic function theory and combinatorics. A natural action of the modular group on extended rationals, yields interesting results. In [4], by using this action, Jones et. al. studied the suborbital graphs known as the Farey graph for the modular group. Kader et al. studied the

©2022 Ankara University Communications Faculty of Sciences University of Ankara Series A1 Mathematics and Statistics

<sup>2020</sup> Mathematics Subject Classification. 20H05, 05C25.

Keywords. Suborbital graphs, Pascal triangle, Fibonacci numbers.

zevnep.sanli@ktu.edu.tr-Corresponding author; tkor@ktu.edu.tr

 $<sup>\</sup>bigcirc$  0000-0002-1564-2634; 0000-0002-1341-1074.

suborbital graphs for the extended modular group in [11]. Değer et. al. investigate some results on continued fractions in suborbital graphs [1]. In [8,9], Keskin searched the suborbital graphs for the normalizer of  $\Gamma_0(n)$ . Güler et. al. examined relations between elliptic elements and circuits in graphs for the normalizer of  $\Gamma_0(n)$  in  $PSL(2,\mathbb{R})$  which turns to be a very important group in the studies of moonshine [2].

Some results in these studies are directly related to the number theory. Köroğlu et. al. obtained interesting results about the Fibonacci numbers and the suborbital graphs by means of the action of a special subgroup of the modular group on extended rationals [7]. Güler et. al. studied on solutions of congruence equations that come from the action of the normalizer of  $\Gamma_0(n)$  via suborbital graphs [3].

On the other hand, it is known that Pascal and Fibonacci numbers are crucial subjects in combinatorics [5]. In [10], Falcon and Plaza obtained some results about Fibonacci sequence and Pascal's triangle.

The aim of the paper is to examine the action of a special subgroup of the modular group on the extended rationals. With the idea of this group action, some interesting results are obtained about the number theory. Many properties of Fibonacci numbers are deduced and associated with the so-called Pascal's triangle mentioned.

#### 2. Modular Group

Let  $PSL(2,\mathbb{R})$  denote the group of all linear fractional transformations

 $T: z \to \frac{az+b}{cz+d}$ , where a, b, c and d are real and ad - bc = 1.

In terms of the matrix representation, the elements of  $PSL(2, \mathbb{R})$  correspond to the matrices

$$\pm \begin{pmatrix} a & b \\ c & d \end{pmatrix}; a, b, c, d \in \mathbb{R} \text{ and } ad - bc = 1.$$

These matrix representations are composed of the special linear group denoted by  $SL(2,\mathbb{R})$ . The modular group denoted by  $\Gamma$  is the subgroup of  $SL(2,\mathbb{R})$  consisting of the 2 × 2 matrices having integer entries. Furthermore, the modular group is generated by the matrices

$$x = \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix}, \qquad y = \begin{pmatrix} 1 & -1 \\ 1 & 0 \end{pmatrix}$$

with defining relationships  $x^2 = y^3 = -I$ , where I is the identity matrix. Here, x and y are cyclic matrices of order two and three, respectively. And we can write

$$\Gamma = < x, y > .$$

We remark that something very related to the trace  $Tr(\begin{pmatrix} a & b \\ c & d \end{pmatrix}) := |a + d|$  will be of great use in the classification. Note that, an element of modular group is called elliptic, parabolic or hyperbolic if its trace  $Tr(\cdot) < 2$ ,  $Tr(\cdot) = 2$  or  $Tr(\cdot) > 2$ respectively. Important subgroups of the modular group  $\Gamma$ , called congruence subgroups, are given by imposing congruence relations on the associated matrices. One of them is

$$\Gamma_0(n) = \left\{ \begin{pmatrix} a & b \\ c & d \end{pmatrix} \in \Gamma : c \equiv 0 \mod n \right\}.$$

3. The Action of  $\Gamma$  on  $\hat{\mathbb{Q}} = \mathbb{Q} \cup \{\infty\}$ 

Any element of  $\hat{\mathbb{Q}}$  (the extended rational numbers set) can be written as a reduced fraction  $\frac{x}{y}$ , with  $x, y \in \mathbb{Z}$  and (x, y) = 1; since  $\frac{x}{y} = \frac{-x}{-y}$ , this representation is unique. We represent  $\infty$  as  $\frac{1}{0} = \frac{-1}{0}$ . The action  $z \to \frac{az+b}{cz+d}$  of  $\Gamma$  on  $\hat{\mathbb{Q}}$  now becomes

$$\begin{pmatrix} a & b \\ c & d \end{pmatrix} : \frac{x}{y} \to \frac{ax + by}{cx + dy}.$$

Note that as

$$c(ax+by) - a(cx+dy) = -y$$

and

$$d(ax+by) - b(cx+dy) = x,$$

it follows that (ax+by, cx+dy) = 1 and so (ax+by)/(cx+dy) is a reduced fraction.

### 4. MAIN CALCULATIONS

In this section, we investigate the action of a special subgroup of the congruence subgroup  $\Gamma_0(c^2)$  on extended rationals for some integer  $c \neq 0$ . Here, we use the action of the group generated by the commutator of the elements  $x = \begin{pmatrix} 1 & 1 \\ 0 & 1 \end{pmatrix}$  and  $\begin{pmatrix} 1 & 0 \end{pmatrix}$ 

$$y = \begin{pmatrix} 1 & 0 \\ c & 1 \end{pmatrix}$$
 on  $\hat{\mathbb{Q}}$ . Let

$$xyx^{-1}y^{-1} = \begin{pmatrix} c^2 + c + 1 & -c \\ c^2 & 1 - c \end{pmatrix}.$$

Since  $Tr(T_c) = c^2 + 2 > 2$ , we can say the element  $T_c$  is hyperbolic element of modular group for  $c \neq 0$ .

**Proposition 1.** The fixed points of the element  $T_c$  are,

$$\frac{c+2}{2c} \pm \frac{\sqrt{c^2+4}}{2c}.$$
 (1)

Furthermore,  $T_c$  generates an infinitely ordered subgroup  $\langle T_c \rangle$  whose elements are in congruence subgroup  $\Gamma_0(c^2)$ . At the same time, the group  $\langle T_c \rangle$  generated by  $T_c$  is a subgroup of commutator subgroup of modular group. Also,  $T_c(\infty) = \frac{c^2 + c + 1}{c^2}$  is an element of  $\hat{\mathbb{Q}}$ . **Proposition 2.** The group  $\Gamma_0(c^2)$  acts on the set  $M := \{\frac{x}{c^2y} : x, y \in \mathbb{Z}, gcd(x, yc) = 1, y \neq 0\} \cup \{\infty\}$  transitively.

Note that, if y = 0 and  $x \neq 0$  then we assumed that,  $\frac{x}{c^2y} = \frac{x}{0} = \infty$  such as the definition of extended rationals in [4].

*Proof.* For arbitrary  $x, y \in \mathbb{Z}$ , gcd(x, yc) = 1, there exists  $T = \begin{pmatrix} x & * \\ yc^2 & * \end{pmatrix} \in \Gamma_0(c^2)$ . such that  $T(\infty) = \frac{x}{yc^2}$ . This completes the proof.

We interested in sequence of natural powers of the number  $T_c(\infty)$  denoted by  $\{T_c^r(\infty)\}$ , where  $r \in \mathbb{N}$ . Clearly  $\{T_c^r(\infty)\} \subset M \cup \{\infty\}$ . Hence, there is some element of  $\Gamma_0(c^2)$  such that its orbit coincidence the terms of the sequence  $\{T_c^r(\infty)\}$ . The following theorem show us how  $\{T_c^r(\infty)\}$  sequence proceeds.

**Theorem 1.** Let  $T_c = \begin{pmatrix} c^2 + c + 1 & -c \\ c^2 & 1 - c \end{pmatrix}$ , with  $c \in \mathbb{Z}$ . Suppose  $T_c^r(\infty) := \frac{P_r(c)}{Q_r(c)}$ .

Then

$$P_r := P_r(c) = \sum_{s=0}^r \binom{2r-s}{s} c^{2r-2s} + \sum_{s=1}^r \binom{2r-s}{s-1} c^{2r-2s+1},$$
(2)

$$Q_r := Q_r(c) = \sum_{s=1}^r \binom{2r-s}{s-1} c^{2r-2s+2}.$$
 (3)

Since Theorem 1 includes the combinatorial identities we frequently use some combinatorial basics such as,

$$\binom{r}{s} = \binom{r-1}{s-1} + \binom{r-1}{s} \tag{4}$$

so-called the Pascal Identity for integers  $1 \le s \le r$ .

Before the proof of the theorem, we give the following lemma.

**Lemma 1.** Assume that the identities (2) and (3) are true for any r > 1. Then, we have

$$c^{2}P_{r} - cQ_{r} = \sum_{s=0}^{r} {\binom{2r-s}{s}} c^{2r-2s+2}.$$
(5)

*Proof.* By using (4) and other properties of the combinatorial theory we get proof easily, as follow:

$$c^{2}P_{r} - cQ_{r} = c^{2}\sum_{s=0}^{r} {\binom{2r-s}{s}} c^{2r-2s} + c^{2}\sum_{s=1}^{r} {\binom{2r-s}{s-1}} c^{2r-2s+1}$$

$$-c\sum_{s=1}^{r} \binom{2r-s}{s-1} c^{2r-2s+2}$$
  
=  $\sum_{s=0}^{r} \binom{2r-s}{s} c^{2r-2s+2} + \sum_{s=1}^{r} \binom{2r-s}{s-1} c^{2r-2s+3}$   
-  $\sum_{s=1}^{r} \binom{2r-s}{s-1} c^{2r-2s+3}$   
=  $\sum_{s=0}^{r} \binom{2r-s}{s} c^{2r-2s+2}.$ 

Now we give the proof of Theorem 1 by using the mathematical induction method.

*Proof.* For r = 1, it is clear that

$$T_c(\infty) = \begin{pmatrix} c^2 + c + 1 & -c \\ c^2 & 1 - c \end{pmatrix} \begin{pmatrix} 1 \\ 0 \end{pmatrix} = \begin{pmatrix} c^2 + c + 1 \\ c^2 \end{pmatrix}.$$

So,  $P_1 = c^2 + c + 1$  and  $Q_1 = c^2$ . This shows that (2) and (3) are true for r = 1. As

$$T_c^{r+1}(\infty) = \frac{P_{r+1}}{Q_{r+1}}$$
(6)

and

$$T_c^{r+1}(\infty) = T_c(T_c^r(\infty)) = \begin{pmatrix} c^2 + c + 1 & -c \\ c^2 & 1 - c \end{pmatrix} \begin{pmatrix} P_r \\ Q_r \end{pmatrix}$$
  
$$= \begin{pmatrix} c^2 P_r + c P_r + P_r - c Q_r \\ c^2 P_r - c Q_r + Q_r \end{pmatrix},$$
(7)

we get

$$P_{r+1} = c^2 a P_r + c P_r + P_r - c Q_r$$
(8)

and

$$Q_{r+1} = c^2 P_r - cQ_r + Q_r. (9)$$

Now assume that (2) and (3) are true for any r > 1. We will show that (2) and (3) are true for r + 1. To complete the proof, by using Lemma 1, it can be shown that the following two equations can be obtained from the identities (8) and (9).

$$P_{r+1} = \sum_{s=0}^{r} {\binom{2r-s}{s}} c^{2r-2s+2} + (c+1)P_r,$$
(10)

$$Q_{r+1} = \sum_{s=0}^{r} {\binom{2r-s}{s}} c^{2r-2s+2} + Q_r.$$
 (11)

277

Indeed, if we begin with the right side of the equation (10), then we obtain desired results as follow.

$$\sum_{s=0}^{r} \binom{2r-s}{s} c^{2r-2s+2} + (c+1)P_r$$

$$= \sum_{s=0}^{r} \binom{2r-s}{s} c^{2r-2s+2} + (c+1) \left[ \sum_{s=0}^{r} \binom{2r-s}{s} c^{2r-2s} + \sum_{s=1}^{r} \binom{2r-s}{s-1} c^{2r-2s+1} \right]$$

$$= \sum_{s=0}^{r} \binom{2r-s}{s} c^{2r-2s+2} + c^{2r+1} + \sum_{s=1}^{r} \binom{2r-s}{s} c^{2r-2s+1} + \sum_{s=1}^{r} \binom{2r-s}{s} c^{2r-2s+1} + \sum_{s=1}^{r} \binom{2r-s}{s} c^{2r-2s+1} + \sum_{s=1}^{r} \binom{2r-s}{s} c^{2r-2s} + \sum_{s=1}^{r} \binom{2r-s}{s-1} c^{2r-2s+1}.$$
(12)

From the equation (12), we obtain

$$\sum_{s=0}^{r+1} \binom{2r-s+2}{s} c^{2r-2s+2}$$

$$= \sum_{s=0}^{r} \binom{2r-s}{s} c^{2r-2s+2} + \sum_{s=1}^{r} \binom{2r-s}{s-1} c^{2r-2s+2}$$

$$+ \sum_{s=0}^{r} \binom{2r-s}{s} c^{2r-2s},$$
(13)

and

$$\sum_{s=1}^{r+1} \binom{2r-s+2}{s-1} c^{2r-2s+3}$$

$$= \sum_{s=1}^{r} \binom{2r-s}{s} c^{2r-2s+1} + \sum_{s=1}^{r} \binom{2r-s}{s-1} c^{2r-2s+1} + c^{2r+1}.$$
(14)

So, by using (13) and (14) we have

$$P_{r+1} = \sum_{s=0}^{r+1} \binom{2r-s+2}{s} c^{2r-2s+2} + \sum_{s=1}^{r+1} \binom{2r-s+2}{s-1} c^{2r-2s+3}.$$

Hence, the equation (2) is true for r + 1.

By using Lemma 1, we get

$$\begin{aligned} Q_{r+1} &= c^2 P_r - c Q_r + Q_r = \sum_{s=0}^r \binom{2r-s}{s} c^{2r-2s+2} + Q_r \\ &= \sum_{s=0}^r \binom{2r-s}{s} c^{2r-2s+2} + \sum_{s=1}^r \binom{2r-s}{s-1} c^{2r-2s+2} \\ &= c^{2r+2} + \sum_{s=1}^r \binom{2r-s}{s} c^{2r-2s+2} + \sum_{s=1}^r \binom{2r-s}{s-1} c^{2r-2s+2} \\ &= c^{2r+2} + \sum_{s=1}^r \left[ \binom{2r-s}{s} + \binom{2r-s}{s-1} \right] c^{2r-2s+2} \\ &\stackrel{(4)}{=} c^{2r+2} + \sum_{s=1}^r \binom{2r-s+1}{s} c^{2r-2s+2} \\ &= \sum_{s=0}^r \binom{2r-s+1}{s} c^{2r-2s+2} \\ &= \sum_{s=0}^r \binom{2r-s+2}{s-1} c^{2r-2s+4} = Q_{r+1}. \end{aligned}$$

This implies that (3) is true for r + 1.

# 5. PASCAL NUMBERS AND FIBONACCI SEQUENCE

In this section, we give some useful informations for Fibonacci numbers related to our results in this study. The Fibonacci numbers  $F_r$  are given by the recurrence in [6];

$$F_1 = F_2 = 1, \ F_{r+2} = F_{r+1} + F_r, \ r \ge 1.$$

Thus, the first few Fibonacci numbers are

$$1, 1, 3, 5, 8, 13, 21, \ldots$$

Also, the elegant formula is

$$F_{r+1} = \sum_{s=0}^{\lfloor r/2 \rfloor} \binom{r-s}{s}$$
(15)

where  $\lfloor r/2 \rfloor$  denotes the largest integer less than or equal to r/2 [6].

We consider coefficients of the polynomials  $P_r$  and  $Q_r$  as shown below in first five terms of  $P_r$  and  $Q_r$ . Furthermore we investigate that these coefficients are related to the Pascal triangle.

$$P_1 = c^2 + c + 1$$
$$P_2 = c^4 + c^3 + 3c^2 + 2c + 1$$

$$P_{3} = c^{6} + c^{5} + 5c^{4} + 4c^{3} + 6c^{2} + 3c + 1$$

$$P_{4} = c^{8} + c^{7} + 7c^{6} + 6c^{5} + 15c^{4} + 10c^{3} + 10c^{2} + 4c + 1$$

$$P_{5} = c^{10} + c^{9} + 9c^{8} + 8c^{7} + 28c^{6} + 21c^{5} + 35c^{4} + 20c^{3} + 15c^{2} + 5c + 1$$

$$\vdots$$

Each sequences of numerators obtained from this action consists of numbers in Pascal 2-Triangle as shown in Table 1. For example, second sequences of numerators (1, 1, 3, 2, 1) are located by bold numbers in Table 1.

						1					
						1					
					1		1				
					1		<b>2</b>				
				$\nearrow$		$\searrow$	7	$\searrow$			
			1			3		1			
			1			4		3			
		1			5		6		1		
		1			6		10		4		
	1		$\overline{7}$			15		10		1	
	1		8			21		20		5	
1		9			28		35		15		1
1		10			36		56		35		6

TABLE 1. The Pascal 2-Triangle

**Proposition 3.** Sum of all coefficients of  $P_r$  gives the (2r + 2) - th Fibonacci number denoted by  $F_{2r+2}$ , i.e.  $P_r(1) = F_{2r+2}$ .

*Proof.* We remark that sum of all coefficients of  $P_r$  is  $P_r(1)$ . So, by using the identities (4) and (15) we have desired result as follows:

$$P_{r}(1) = 1 + \sum_{s=1}^{r} \left[ \binom{2r-s}{s-1} + \binom{2r-s}{s} \right]$$
  
$$\stackrel{(4)}{=} 1 + \sum_{s=1}^{r} \binom{2r-s+1}{s}$$
  
$$= \sum_{s=0}^{r} \binom{2r-s+1}{s}$$
  
$$= \sum_{s=0}^{\lfloor (2r+1)/2 \rfloor} \binom{2r-s+1}{s} \stackrel{(15)}{=} F_{2r+2}.$$

Now, we consider the coefficients of the polynomial  $Q_r$ . These coefficients are written at the sub rows in Pascal 2-triangle in Table 1. For example, 1, 3, 1 and 1, 6, 10, 4. So the first five terms of  $Q_r$  are listed as follow:

$$Q_{1} = c^{2}$$

$$Q_{2} = c^{4} + 2c^{2}$$

$$Q_{3} = c^{6} + 4c^{4} + 3c^{2}$$

$$Q_{4} = c^{8} + 6c^{6} + 10c^{4} + 4c^{2}$$

$$Q_{5} = c^{10} + 8c^{8} + 21c^{6} + 20c^{4} + 5c^{2}$$

$$\vdots$$

**Proposition 4.** Sum of all coefficients of  $Q_r$  gives the 2r-th Fibonacci number, *i.e.*  $Q_r(1) = F_{2r}$ .

Proof.

$$Q_{r}(1) = \sum_{s=1}^{r} \binom{2r-s}{s-1} = \sum_{j=0}^{r-1} \binom{2r-(j+1)}{j}$$
$$= \sum_{j=1}^{r-1} \binom{2r-1-j}{j} = \sum_{j=0}^{\lfloor (2r-1)/2 \rfloor} \binom{2r-1-j}{j}$$
$$\stackrel{(15)}{=} F_{2r}.$$

**Proposition 5.**  $P_r(-1) = F_{2r-1}$ .

Proof.

$$P_{r}(-1) = \sum_{s=0}^{r} {\binom{2r-s}{s}} - \sum_{s=1}^{r} {\binom{2r-s}{s-1}} = \sum_{s=0}^{r} {\binom{2r-s}{s}} - \sum_{s=0}^{r-1} {\binom{2r-s-1}{s}}$$
$$= 1 + \sum_{s=0}^{r-1} {\binom{2r-s}{s}} - \sum_{s=0}^{r-1} {\binom{2r-s-1}{s}}$$
$$= 1 + \sum_{s=0}^{r-1} \left[ {\binom{2r-s}{s}} - {\binom{2r-s-1}{s}} \right]$$
$$\stackrel{(4)}{=} 1 + \sum_{s=1}^{r-1} {\binom{2r-s-1}{s-1}} = 1 + \sum_{s=0}^{r-2} {\binom{2(r-1)-s}{s}}$$
$$= 1 + \sum_{s=0}^{u-1} {\binom{2u-s}{s}} = \sum_{s=0}^{u} {\binom{2u-s}{s}} \stackrel{(15)}{=} F_{2u+1} = F_{2r-1}.$$

**Proposition 6.** Sum of the coefficients of odd order terms of  $P_r$  is  $F_{2r}$ .

*Proof.* We remark that the sum of the coefficients of odd order terms of  $P_r$  is  $\frac{P_r(1)-P_r(-1)}{2}$ . Therefore, by using Proposition 3, Proposition 5 and recurrence relations of Fibonacci numbers, we obtain the desired result as follows:

$$\frac{P_r(1) - P_r(-1)}{2} = \frac{F_{2r+2} - F_{2r-1}}{2} = \frac{F_{2r} + F_{2r+1} - F_{2r-1}}{2}$$
$$= \frac{F_{2r-1} + 2F_{2r} - F_{2r-1}}{2} = F_{2r}.$$

Also considering the scope of this study, we can also talk about k-Fibonacci numbers. Let  $k \neq 0$  be an integer and  $F_{k,0} = 0$ ,  $F_{k,1} = 1$ , and  $F_{k,n} = kF_{k,n-1} + F_{k,n-2}$  for  $n \geq 2$ . The sequence  $(F_{k,n})$  is called k-Fibonacci sequence. A few terms of this sequence are

$$0, 1, k, k^{2} + 1, k^{3} + 2k, k^{4} + 3k^{2} + 1, k^{5} + 4k^{3} + 3k, k^{6} + 5k^{4} + 6k^{2} + 1, \dots$$

In [10], it is proved that

$$F_{k,n} = \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} {\binom{n-1-i}{i}} k^{n-1-2i} \text{ for } n \ge 2.$$

That is,

$$F_{k,n+1} = \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \begin{pmatrix} n-i \\ i \end{pmatrix} k^{n-2i} \text{ for } n \ge 1.$$

Considering this result for k = c and n = r, we can give the following two conjectures:

$$Q_r = Q_r(c) = cF_{c,2r}$$

and

$$P_r = P_r(c) = F_{c,2r} + F_{c,2r+1}.$$

### 6. CONCLUSION

In this paper, we examined the action of a special subgroup of the congruence subgroup on  $\hat{\mathbb{Q}}$ . Using this action we obtained some results on Pascal and Fibonacci numbers via the modular group. The results obtained are important for the fields of number theory and combinatorics. Further, it has also been observed that

$$\infty \to T_c(\infty) \to T_c^2(\infty) \to \dots \to T_c^r(\infty) \to T_c^{r+1}(\infty) \to \dots$$

is an infinitely long path in the suborbital graph  $G(\infty, \frac{c^2+c+1}{c^2})$ . Hence, this action is related to suborbital graphs theory which firstly studied by Jones et. al. in the reference [4]. This relationship can be examined in the future studies.

Author Contribution Statements The authors jointly acknowledge responsibility for the following: study conception and design, data collection, analysis and interpretation of results, and manuscript preparation.

**Declaration of Competing Interests** The authors declare that they have no competing interests.

Acknowledgments The authors thanks the referees very much for their valuable suggestions which made this paper much improved.

#### References

- Değer, A. H., Beşenk, M., Güler, B. Ö., On suborbital graphs and related continued fractions, Applied Mathematics and Computation, 218 (2011). DOI:10.1016/j.amc.2011.03.065
- [2] Güler, B. Ö., Beşenk, M., Değer, A. H., Kader, S., Elliptic elements and circuits in suborbital graphs, *Hacet, J. Math Stat.*, 40(2) (2011), 203-210.
- Güler, B. Ö., Kör, T., Şanlı, Z., Solution to some congruence equations via suborbital graphs, SpringerPlus, 5 (2016), 1327. DOI:10.1186/s40064-016-3016-5
- [4] Jones, G. A., Singerman, D., Wicks, K., The Modular Group and Generalized Farey Graphs, London Math. Soc. Lecture Note Series, CUP, Cambridge, 160, 1991, 316-338.
- [5] Lee, G.Y., Kim, J.S., Cho, S.H., Some combinatorial identities via Fibonacci numbers, Discrete Applied Mathematics, 130(3) (2003), 527-534. DOI:10.1016/S0166-218X(03)00331-7
- [6] Koshy, T. Fibonacci and Lucas Numbers with Applications, John Wiley and Sons, 2001.
- [7] Akbaş, M., Kör, T., Kesicioğlu, Y., Disconnectedness of the subgraph F<sup>3</sup> for the group Γ<sup>3</sup>, Journal of Inequalities and Applications, 283 (2013). DOI: 10.1186/1029-242X-2013-283
- [8] Keskin, R. Suborbital graphs for the normalizer of Γ<sub>0</sub>(m), European Journal of Combinatorics, 27 (2006), 193-206. DOI:10.1016/j.ejc.2004.09.004
- [9] Keskin, R., Demirtürk, B., On suborbital graphs for the normalizer of  $\Gamma_0(n)$ , Electron. J. of Combin., 16(1) (2009), 116-133.

# Z. ŞANLI, T. KÖROĞLU

- [10] Falcón, S., Plaza, Á., The k-Fibonacci sequence and Pascal 2-triangle, Chaos, Solitons and Fractals, 33(1) (2007), 38-49. DOI: 10.1016/j.chaos.2006.10.022
- [11] Kader, S., Güler, B. Ö., On suborbital graphs for extended modular group  $\hat{\Gamma}$ , Graphs and Combinatorics, 29 (2013), 1813–1825. DOI:10.1007/s00373-012-1226-3
- [12] Köroğlu, T., Güler B. Ö., Şanlı, Z., Suborbital graphs for the Atkin Lehner group, Turk. J. of Math., 41 (2017), 235–243. DOI:10.3906/mat-1602-10